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Critically examine the economic strategy of the
current government to achieve back the lost
growth. Discuss in this context the progress achieved
in terms of building what Arvind Subramanian
calls the “hardware and software of economic
success”. Deghbamdhu.College LibTHrY
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Discuss in detaif the-evolution of Indian trade pOi®
. . s
“ince 1991, identifying both the significant progr®
er
Made through reform and the areas where furth

Progress is required.
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“Abandoning export origntaté;on»is akin not just to killing

the goose that has laid gblde‘n eggs. It is akin to killing

the only goose that can lay eggs.” Discuss this

statement in the context of India’s more recent inward
orientation.
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Discuss the trends in the Indian labour market.
Do you think that reforms aimed at making the
labour market more flexible will succeed in
raising economic growth and generating more

employment in India? Give reasons in support of your
answer.
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The income earned by farmers from agricultura]
activities has seen low to high growth in different
periods during the last three decades. In none of the
periods do farmers’ income or profitability of farming
show any squeeze. Discuss the factors contributing to

such trends.
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There are a few non-negotiable aspects that any
government should keep in mind before implementing

any change in agrarian policy. Discuss in detail these
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aspects in the Indian context and suggest the ways by
which the problems of food security and inequalities

can be best tackled with.

7o JuRadT TE ¥ R R W wen w o SRy Y
Bl S woemE W AN wS ¥ TR e ¥ e i
WA Fe W 3 eyt W AwR A w=t W ok 37 a9y
H T RFD B0 @ e R st 6 e
F T ST v PR wwaT B

“Even after a quarter-century of market-oriented
reforms, why did India fail to catch up with the Asian

economies to cement its reputation as a successful

industrial nation with rising manufactured exports?”
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. The question paper consists of six questions. Answer

any four questions.

3. All questions carry equal marks.

4.  Answers may be written either in English or Hind1;
but the same medium should be used throughout the
paper. '
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Discuss the factors responsible for industrial revolution

in the second half of 18th century in Britain.
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Discuss the working of trade
Soviet Union,

unions in Britain and the



Compare the process of early industrfalisation in
Britain and Japan. Explain How the role of small and

big capital changed- from Britain to Japan.
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5. Explain the different views in the debate of Sovig:t

industrialisation.
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6. Critically discuss the role of state in €€O
amples of

development. Discuss with help of the €X

Britain and Japan. .
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Instructions .for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. All questions carry equal marks.

3. Answer any FIVE (5) questions.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper. , Ny
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(a) Examine the role of public, commercial banks, and
the central bank in the determination of money

supply in an economy. 9)

(b) Differentiate between monetary and liquidity
aggregates of the third working group. What is
the basis of this differentiation? (6)
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(a) Why is asset securitization an example of market

' ",;.,interm,ediat_i‘on? In what ways can securitization
reduce the cest of funds for the issuer? (8)

(b) “Better credit risks do not subsidize poor credit
risks when symmetric information exists” whereas
“Honest borrowers subsidize dishonest borrowers

when information is asymmetric”. Explain. (7)
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3. (a) Compare and contrast the sequence of events in

financial crises in United States and East Asian

Countries. (8)

(b) In what ways Futures differ from a Forwards

contract and Options contract? (7)
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4. (a) Explain how the expectation hypothesis and
| segmented market hypothesis are extreme versions
of the preferred habitat hypothesis. Under what
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conditions yield curve would be upward slopitg.
downward sloping or flat according to Preferred

Habitat Hypothesis. (6)

(b) A coupon bond maturing in one year has a face

value of Rs 1000 and a coupon rate of 8%. If the

market interest rate is 6% at the time of purchase,
calculate (a) price (b) current yield c) vyield to
maturity of this bond. What effect would a rise in
the market rate of interest to 10% have on its

price and yield? (9)
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5. (a) What were the policy responses to the two banking

crisis in the Indian economy for the period :

1997-2002

After 2008 (10)

(b) How can the existence of asymmetric information

provide a rationale for government regulation of

financial markets? (5)
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6. (a; Describe how BASEL III 1s an enhancement over
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. (b) Examine the lags observed in the operation of
2 | (5)

~ monetary policy.
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7. Distinguish between Conventional and UnconVentional
. Monetary policy measures? Discusg Varioysg
unconventional monetary policy measures, their key
features and their applications in India. (15)
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Write short notes on any two of the following :

p———y

. [
(i) Policy Rate Corridor
(ii) Monetary transmission mechanism

(iii) Certificate of Deposits (CDs) (15)
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of this question paper.
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3 Answer any five questions.

4. The marks for each question are written along with
the questions.

5 Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper. .
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In developing countries, fertility rates continue to be

- sticky and high, even in the face of falling death rates.

Analyse the various social and economic factors that
help in explaining the micro inertia of fertility rates at

the household level. (15)
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Development proceeds via the joint transfer of labour
and agricultural surplus from the traditional agricultural
sector to the modern industrial sector. Explain the

(15)

process with the help of suitable diagrams.
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(a) Why is fixed rent tenancy considered to be a
more efficient contractual arrangement than
sharecropping? Explain using the concept of

Marshallian inefficiency in this context. (10)

(b) How can sharecropping contract be used as a

device to screen tenants? (5)
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A prudent land reforms policy has the ability to

increase overall employment and output in the

economy. Elucidate the statement using the nutrition-

based model of labour market. (15)
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(a) What are the various possible forms of collatery]

in the rural credit market?

(2)

(b) If a collateral is valuable to both the lender ang
the borrower, derive the condition under which
there will be no default Also spemfy, how can

credit be used : as a ve11 for acqulrlng collateral?
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(c) Assume that a moneylender from a remote village

vy

can earn 20% rate of interest if he deposits
Rs. 10,000 in a nationalised bank, with no fear of
losing any 6f this mon'ey. However, alternatively
he can take a risky option and lend the same in
the informal market at a higher rate and thereby
earning a risk premium. For each of the case
below, calculate the minimum rate of interest that
this moneylender would be lending in the informal

market. Also, find out what is the risk premium in
each case,



5
3478

) With probability '/ that the loap will he

1) v sam

: repaid with interest, probability 1/, that only
the principal will be repaid, and probability

1/3 that the loan will not be repaid at alp

(3)
(i) With probability % the loan will be rep
with interest, and with probabi]

loan will not be repaid at al].

aid
ity % the
(3)
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What is the rationale of economijc regulation in
general? Explain why command and control approach
dominates the policies for environmental regulation
worldwide when most economists believe economic

incentives are much better. (5,10)
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plucidate how ignoring the structural fayly lines
manifested itsell into the Global Financial Crigig of

20087 What lessons does the crisis begtow upon the

financial world? (15)
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Write short note on any two: (7.5 each)

(a) Positive effects of population growth on

development

(b) Impact of globalization on the poor as users of

public services and common resources
(c) Policies for development and environment

(d) Lender’s risk hypothesis
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